
mathcity.org 
 Merging man and maths 

MCQs – Ch # 4: F.Sc Part 1 
Text Book of Algebra and Trigonometry Class XI 

Available online at http://www.mathcity.org, Version: 1.0.0 

 
Choose the correct answer. 
 

      1. Roots of the equation 01272 =++ xx  are 
(a) {3,-4}  (b) {-3,4}  (c) {3,4}  (d) {-3,-4} 

      2. 1044 11 =+ −+ xx  is called  
 (a) reciprocal eq (b) exponential eq (c) radical eq  (d) none of these 
      3. 131238 +=+++ xxx  is called 
 (a) reciprocal eq (b) exponential eq (c) radical eq  (d) none of these 
      4. 01343 234 =+−+− xxxx  is called  
 (a) reciprocal eq (b) exponential eq (c) radical eq  (d) none of these 
      5. =4w  
 (a) 0   (b) 1   (c) w    (d) 2w   
      6. An expression of the type 0... 01

1
1 =++++ −

− axaxaxa n
n

n
n  is called 

 (a)polynomial of degree 0   (b)polynomial of degree 1   (c)polynomial of degree 2   (d polynomial of degree n 
      7. 135 3 −+ xx  is called      

(a)polynomial of degree 3   (b)polynomial of degree 2   (c)polynomial of degree 1   (d polynomial of degree 0 
      8. If 3223 axaaxx −−+  is divided by ax + , then the remainder is 
 (a) 0   (b) 3a    (c) 32a    (d) 32a−  
      9. The sum of the roots of the equation 0 , 02 ≠=++ acbxax  is 

 (a) 
a
b

   (b) 
a
b

−   (c) 
a
c

   (d) 
b
a

 

     10. If S and P are the sum and the product of the roots of a quadratic equation, then quadratic equation is 
 (a) 02 =−+ PSxx  (b) 02 =+− PSxx  (c) 02 =−− PSxx  (d) 02 =++ PSxx  
     11. The roots of the equation 02 =++ cbxax  are real and equal if 
 (a) 042 <− acb  (b) 042 =− acb   (c) 042 >− acb  (d) none of these 
     12. Roots of the equation 0152 =−+ xx  are 
 (a) rational  (b) irrational  (c) complex  (d) none of these 
     13. If w  is a cube root of unity then =++ 21 ww  
 (a) 1   (b) 2   (c) 0   (d) -1 
     14. The product of the cube roots of unity is  
 (a) zero   (b) 1   (c) -1   (d) none of these 
     15. =+ 3828 ww  
 (a) 0   (b) 1   (c) w    (d) -1 
     16. The sum of the fourth roots of unity is 
 (a) 4   (b) 3   (c) 1   (d) 0 
     17. The product of the four fourth roots of unity is 
 (a) 0   (b) 1   (c) -1   (d) i  
     18. If 2−x  is a factor of 4122 +− xax , then a= 
 (a) -5   (b) 5   (c) 0   (d) 1 
     19. Which of the following is a factor of 623 23 −+− xxx  
 (a) 2+x   (b) 3+x   (c) 3−x   (d) 4−x   
     20. If w  is complex cube root of unit then =w  
 (a) 0   (b) 1   (c) 2w    (d) 2−w  
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     21. If βα ,  are roots of =+=+−
βα
11 then 0542 2 xx  

 (a) 
4
5

   (b) 
4
5

−   (c) 
5
4

   (d) 
5
4

−  

     22. If βα ,  are roots of =++=+− )1)(1( then 0542 2 βαxx  

 (a) 
2

11
   (b) 

2
11

−   (c) 
11
2

   (d) 
11
2

−  

     23. If βα ,  are the roots of =+=+− 222  then 0542 βαxx  
 (a) -1   (b) 0   (c) 2   (d) 1 
     24. The cube roots of 8 are 
 (a) 2,,1 ww   (b) 22,2,2 ww   (c) 22,2,2 ww −−−  (d) 23,3,3 ww   
     25. The fourth roots of unity are 
 (a) 2,,1,0 ww   (b) ii −− ,,1,1   (c) ii 2,2,2,2 −−  (d) none of these 
     26. If the polynomial 524 23 +−+ xxx  is divided by 1+x , then the remainder is 
 (a) 4   (b) 6   (c) 8   (d) 10 
     27. The quadratic equation with roots 32,32 +−  is 
 (a) 0142 =+− xx  (b) 0332 =+− xx  (c) 0142 =++ xx  (d) 0142 =−− xx  
     28. If acb 42 −  is a positive perfect square then the roots of the equation are 
 (a) rational  (b) irrational  (c) complex  (d) none of these 
     29. If 042 <− acb , then the roots of the equation are  
 (a) rational  (b) irrational  (c) complex  (d) none of these 
     30. =−+ 82 )1( ww  
 (a) 256   (b) w256   (c) 256−   (d) w256−  
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